








































































Sol a Yes b NO since 1and aredifferent

c NO since and 0 are different

51 a True theelement x belongsto the set
bTrue a set is its own subset

c false theelement x is not in the set

d True the element x belongs to the set Ex

e True empty set is subset of anyset
f false theelement is NOT in Ex







































































Sol a a 1 b a I

AxB c p C courseinMathdepartment p professor inMathdepartment
CEA and PEB

A b a bed and atA and

Toshow A we have to show

A this is true because is a subsetofanyset
g b a XA and assume lb 99 A 9 Étradiction

since b a then itmeans be and a
However b is a contradition of b a e xA it impliese

Therefore anygiven b a E xA is also an element of

and this proves A

Similarly Ax bydefiningAx ab AEAand be



Thus we have A Ax


